
Astronomical Unit & light year: 

Using the known value for the ‘velocity of light’, mean distance of Earth from the Sun is 1.3445587453 x 108 Km’.   This means that: *the distance =1.03029505098631524795993229363321e8 metre New (m’)*, is traversed by light during ONE Decimal Second”.

 Duration of the year (y1999) = 365.24219878125 days, as on 1999 January 00. 

 This has now changed to ONE (ATOMIC) YEAR, y2000 = 365d.24218966978125=365d 5h 81md 25sd.52074744 = 8765h.812552074

 =525948m.75312448464 =31556925s.1874690784; OR =87658125.5277600900416597952 (decimal seconds (sd). 

In time, 1 second =2.777777778 decimal seconds, & 

 One Year =31556925s.1874690784 x 2.777777778 = 87658125.5277600900416597952 sd
Distance ONE light Year =87658125.5277600900416597952 sd x 97059575.22 m’ 

        = 8.50806042830583265751245182586419 e15 Metre New (m’) 

= 9460528169277036.54109530193598468 metre 

=10346159415219856.2347936372878223 yds =5878499667738.55467886002118626265 miles. 

ONE Astronomical Unit  =92956872.6219351140729616405424288 mile =1495.995852128755442226363784371km




        =1346.29475872032664800942489896473 km’ (kilometers New (km’)

The Parsec is the distance at which ONE astronomical unit would subtend an arc of 1 second (angle)




        =3.26 Light Years (assumed) =(8508060428305.83265751245182586358 x3.26) kilometer New (km’)

        = 27736276996277.0144634905929523153 km’

  DEFINITION


    ‘Metre New (m') is the distance represented by 1/105 th of ONE degree of arc-angle formed on Earth curvature (mean Radius 6371 km); and is traversed by light, in vacuum, during the time interval 1/8508060428305832.657512TH of the atomic Year AD 2000 or equivalent to 1/97059575.22TH of the decimal second’.    


    This works to 1.11194886884 times the METRE, m.
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